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SN SATARZS(S.Enomoto et al., 2007) DHERSIBES)L
= | PFAN /
U, ThODEIJ a(r )

Reservoir Concentration
[ppm]
A g
19— > MUt (GeiTiHR) U
7> |\ ) I/éi_k(g_i/j ﬁ?j Sediment Contin'ental 2.8 10.7
P Oceanic 1.7 6.9
i’:j _% :j( Bﬁﬁﬁ Cont Upper 2.8 10.7
ontinental 4 41 1.6 6.1
<> BLDENS300km (CH—537Fh Crust L oer 0 o
e~ — Fc L Oceanic Crust 0.10 0.22
ljFﬁ HIJ jtl} ﬁﬁ Mantl Upper 0.012 0.048
antle
<> MNLlLOofmEOFEoh. EHhS Lower 0.012 0.048
_ Outer 0 0
300kmE COEFF160° ~ FaFE140°, Core Tnner 0 0
1L#820° ~ FE#g40°(C ) fh Bulk Silicate Earth (BSE)  0.0203  0.0795
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Flux(Kamioka,ZcfTHFZ2(S.Enomoto et al., 2007)) (Cx1 9 D 4E X 54

Flux / Flux(Kamioka,fc{T7#5%)

e BATAE | Kamioka ~74 ATHEBE ATEEE
FATHR(EI—~ > bILDTR) 1.00 0.36
H—< > bLDT 0.92 0.33 0.32 0.31
— = KENT 0.87 0.27 0.26 0.25
RATRE = KED R 0.84 0.38 0.47 0.46

1212 U, Flux(Kamioka,fefTHIZZ) (dKamiokalC BT D FHATHIRD ISV IO XTH D,
Flux(Kamioka,9cfTHI%%) = 4.33 X 10°/cm? /sec THDo



